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1.1 Sphere Model(Sphere)
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1.2 Hyperbolic Plane Model (H2)
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Hyperbolic Model
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1.3 Negative Curvature Model (NC)

H20000000000000000000000O0O0O0000O0OOOOO0OO0O0O0ODODOOO0O00OO

goboooboooooooooobooooooooboooon

Megative Curvature Surface Model

now R onoa

yvalug

Woho4 e =

4o bk

E -7 ‘e = a = == =1 o 1 = = a = s
xwalue

— Negative Curvature Surface -t - =8 |

0O 4 negative curvature model

goobooboboboo
f(ut,u?) = (h(u)cos u?, h(u')sin u? u')

O000h(w) 0000000 cosh(u) = €44~ 0000« 020000000

2 01000

ooooooo 1boboooooooo

000000000000f,000 f000Wi(«)) 000000 245(4L)00000000fe 000 fO

Out \ dxt

8000000 000001000000 gi0gee D00 f,;0 f,;0000 0 fo 0 RPO0DDOO



0000000000000
GOO0i0j00000 g;000000000g00000 GOOOOODOD Y O0OO00 G040
joooooood

2.1 Sphere Model (Sphere)
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6.3 Negative Curvature Model (NC)
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AeT(M)DODODODDOODADOD (rotation)d rot A DD w2,
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divA = %(\@A" )sa (21)

8.4 laplacian
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8.5 Laplace Beltrami operator
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10.2  Hyperbolic Model
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